## **Special Expenses**

Council Area	Special Expense £
Anglesey - Open Spaces	30,939
Barton under Needwood - Open Spaces	8,105
Branston - Open Spaces	26,023
Brizlincote - Open Spaces	44,036
Burton - Open Spaces	15,022
Draycott in the Clay - Open Spaces	768
Hanbury - Open Spaces	361
Horninglow and Eton - Open Spaces	62,038
Kingstone - Open Spaces	216
Marchington - Open Spaces	550
Mayfield - Open Spaces	2,886
Outwoods - Open Spaces	2,628
Rocester - Open Spaces	2,269
Rolleston - Open Spaces	2,153
Shobnall - Open Spaces	8,048
Stapenhill - Open Spaces	39,859
Stretton - Open Spaces	28,772
Tutbury - Open Spaces	24,079
Uttoxeter Town - Open Spaces	82,346
Winshill - Open Spaces	67,804
Yoxall - Open Spaces	1,803
Total	450,705

### **Council Tax Base**

- (a) 40,935.0 being the amount calculated by the Council, in accordance with regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 2012, as its council tax base for the year.
- (b) Part of the Council's area

Abbots Bromley	850.3
Anglesey	1,646.2
Anslow	357.8
Barton under Needwood	1,979.0
Blithfield	136.8
Branston	3,600.6
Brizlincote	1,924.0
Burton	1,343.9
Croxden	123.4
Denstone	433.7
Draycott in the Clay	351.6
Dunstall	88.8
Ellastone	160.3
Hanbury	234.6
Hoar Cross	107.5
Horninglow and Eton	3,757.7
Kingstone	255.7
Leigh	445.1
Marchington	518.7
Mayfield	474.5
Newborough	231.2
Okeover	35.8
Outwoods	1,351.7
Ramshorn	26.4
Rocester	528.4
Rolleston on Dove	1,472.1
Shobnall	2,100.1
Stanton	123.0
Stapenhill	2,038.1
Stretton	3,282.2
Tatenhill and Rangemore	355.7
Tutbury	1,389.8
Uttoxeter Rural	830.8
Uttoxeter Town	4,840.8
Winshill	2,464.6
Wootton	63.7
Wychnor	52.0
Yoxall	958.4

being the amounts calculated by the Council, in accordance with regulation 6 of the Regulations, as the amounts of its council tax base for the year for dwellings in those parts of its area to which one or more special items relate.

# **Calculation of Council Tax**

t		
ŧ.		
•		

	Ł	
1	8,130,919	Being the council tax requirement for the council's own purposes for 2023/24 (excluding parish precepts and special expenses).
0		
2 (a)	72,433,710	being the aggregate of the amounts which the Council estimates for the items set out in Section 31 A(2) of the act taking into account all precepts issued to it and anticipated from Parish Councils.
(b)	62,347,051	being the aggregate of the amounts which the Council estimates for the items set out in Section 31 A(3) of the act.
(c)	10,086,659	being the amount by which the aggregate at (a) above exceeds the aggregate at (b) above, calculated by the Council, in accordance with Section 31 A(4) of the Act, as its <b>council tax requirement</b> for the year.
(d)	246.41	being the amount at (c) above, divided by the amount at Appendix 12.2 (a) above, calculated by the Council, in accordance with Section 31 B(1) of the Act, as the basic amount of its council tax for the year (including parish precepts
(e)	1,955,740	being the aggregate amount of all special items referred to in Section 34(1) of the Act.
(f)	198.63	being the amount at (d) above, less the result given by dividing the amount at (e) above by the amount at Appendix 12.2 (a) above, calculated by the Council, in accordance with Section 34 (2) of the Act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no special item relates.

£

#### (g) Part of the Council's area:

Abbots Bromley	238.19
Anglesey	237.83
Anslow	230.74
Barton under Needwood	243.88
Blithfield	237.97
Branston	237.80
Brizlincote	234.51
Burton	224.69
Croxden	267.51
Denstone	244.74
Draycott in the Clay	268.50
Dunstall	220.12
Ellastone	246.15
Hanbury	244.80
Hoar Cross	258.63
Horninglow and Eton	226.12
Kingstone	258.13
Leigh	221.53
Marchington	261.54
Mayfield	246.43
Newborough	272.06
Outwoods	221.18
Rocester	245.98
Rolleston on Dove	263.29
Shobnall	221.24
Stanton	212.29
Stapenhill	233.39
Stretton	269.25
Tatenhill and Rangemore	304.06
Tutbury	268.77
Uttoxeter Rural	240.76
Uttoxeter Town	277.60
Winshill	253.84
Wootton	222.18
Yoxall	232.90

Being the amounts given by adding to the amount at (f) above, the amounts of the special item or items relating to dwellings in those parts of the Council's area mentioned above, divided in each case by the amount at Appendix 12.2 (b) above, calculated by the Council in accordance with Section 34(3) of the Act, as the basic amounts of its council tax for the year for dwellings in those parts of its area to which one or more special items relate.

(h) The amounts on the attached schedule, being the amounts given by multiplying the amounts at (f) and (g) above by the number which, in the proportion set out in Section 5(1) of the Act, is applicable to dwellings listed in a particular valuation band, divided by the number which in that proportion is applicable to dwellings listed in valuation band D, calculated by the Council in accordance with Section 36(1) of the Act, as the amounts to be taken into account for the year in respect of categories of dwellings listed in different valuation bands.

## EAST STAFFORDSHIRE BOROUGH COUNCIL TAX RATES

	Band				Band	Band	Band	
VALUATION BAND	Α	Band B	Band C	Band D	Е	F	G	Band H
	£	£	£	£	£	£	£	£
Abbots Bromley	158.79	185.26	211.72	238.19	291.12	344.05	396.98	476.38
Anglesey	158.56	184.97	211.40	237.83	290.69	343.53	396.39	475.66
Anslow	153.83	179.46	205.10	230.74	282.02	333.29	384.57	461.48
Barton under Needwood	162.58	189.69	216.78	243.88	298.07	352.27	406.46	487.76
Blithfield	158.65	185.09	211.53	237.97	290.85	343.73	396.62	475.94
Branston	158.53	184.95	211.38	237.80	290.65	343.49	396.33	475.60
Brizlincote	156.34	182.39	208.46	234.51	286.63	338.73	390.85	469.02
Burton	149.79	174.76	199.73	224.69	274.62	324.55	374.48	449.38
Croxden	178.34	208.06	237.79	267.51	326.96	386.40	445.85	535.02
Denstone	163.16	190.35	217.55	244.74	299.13	353.51	407.90	489.48
Draycott in the Clay	179.00	208.84	238.67	268.50	328.16	387.83	447.50	537.00
Dunstall	146.75	171.20	195.66	220.12	269.04	317.95	366.87	440.24
Ellastone	164.10	191.45	218.80	246.15	300.85	355.55	410.25	492.30
Hanbury	163.20	190.40	217.60	244.80	299.20	353.60	408.00	489.60
Hoar Cross	172.42	201.16	229.89	258.63	316.10	373.58	431.05	517.26
Horninglow and Eton	150.75	175.87	201.00	226.12	276.37	326.62	376.87	452.24
Kingstone	172.09	200.76	229.45	258.13	315.50	372.85	430.22	516.26
Leigh	147.69	172.30	196.92	221.53	270.76	319.99	369.22	443.06
Marchington	174.36	203.42	232.48	261.54	319.66	377.78	435.90	523.08
Mayfield	164.28	191.67	219.04	246.43	301.19	355.95	410.71	492.86
Newborough	181.37	211.60	241.83	272.06	332.52	392.98	453.43	544.12
Okeover	132.42	154.49	176.56	198.63	242.77	286.91	331.05	397.26
Outwoods	147.45	172.03	196.60	221.18	270.33	319.48	368.63	442.36
Ramshorn	132.42	154.49	176.56	198.63	242.77	286.91	331.05	397.26
Rocester	163.99	191.32	218.65	245.98	300.64	355.31	409.97	491.96
Rolleston on Dove	175.52	204.79	234.04	263.29	321.79	380.31	438.81	526.58
Shobnall	147.49	172.08	196.65	221.24	270.40	319.57	368.73	442.48
Stanton	141.53	165.11	188.70	212.29	259.47	306.64	353.82	424.58
Stapenhill	155.59	181.52	207.46	233.39	285.26	337.12	388.98	466.78
Stretton	179.50	209.42	239.34	269.25	329.08	388.92	448.75	538.50
Tatenhill and Rangemore	202.71	236.49	270.28	304.06	371.63	439.20	506.77	608.12
Tutbury	179.18	209.04	238.90	268.77	328.50	388.22	447.95	537.54
Uttoxeter Rural	160.51		214.01	240.76	294.26	347.76	401.27	481.52
Uttoxeter Town	185.07	215.91	246.76	277.60	339.29	400.98	462.67	555.20
Winshill	169.23	197.43	225.63	253.84	310.25	366.66	423.07	507.68
Wootton	148.12	172.81	197.49	222.18	271.55	320.93	370.30	444.36
Wychnor	132.42	154.49	176.56	198.63	242.77	286.91	331.05	397.26
Yoxall	155.26	181.14	207.02	232.90	284.66	336.42	388.16	465.80

### **Precepts**

For the year 2024/2025, Staffordshire County Council, Staffordshire Commissioner for Fire and Rescue and the Staffordshire Police and County Crime Commissioner have stated the following amounts in precepts issued to the Council, in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of dwelling shown below:

	Α	В	С	D	E	F	G	Н
Valuation Bands	£	£	£	£	£	£	£	£
Staffordshire County Council	1,029.76	1,201.39	1,373.01	1,544.64	1,887.89	2,231.15	2,574.40	3,089.28
Staffordshire Commissioner for Fire and Rescue	57.85	67.49	77.13	86.77	106.05	125.33	144.62	173.54
Staffordshire Police and County Crime Commissioner	182.38	212.78	243.17	273.57	334.36	395.16	455.95	547.14

TOTAL COUNCIL TAX RATES									
VALUATION BAND	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H	
	£	£	£	£	£	£	£	£	
Abbots Bromley	1,428.78	1,666.92	1,905.03	2,143.17	2,619.42	3,095.69	3,571.95	4,286.34	
Anglesey	1,428.55	1,666.63	1,904.71	2,142.81	2,618.99	3,095.17	3,571.36	4,285.62	
Anslow	1,423.82	1,661.12	1,898.41	2,135.72	2,610.32	3,084.93	3,559.54	4,271.44	
Barton under Needwood	1,432.57	1,671.35	1,910.09	2,148.86	2,626.37	3,103.91	3,581.43	4,297.72	
Blithfield	1,428.64	1,666.75	1,904.84	2,142.95	2,619.15	3,095.37	3,571.59	4,285.90	
Branston	1,428.52	1,666.61	1,904.69	2,142.78	2,618.95	3,095.13	3,571.30	4,285.56	
Brizlincote	1,426.33	1,664.05	1,901.77	2,139.49	2,614.93	3,090.37	3,565.82	4,278.98	
Burton	1,419.78	1,656.42	1,893.04	2,129.67	2,602.92	3,076.19	3,549.45	4,259.34	
Croxden	1,448.33	1,689.72	1,931.10	2,172.49	2,655.26	3,138.04	3,620.82	4,344.98	
Denstone	1,433.15	1,672.01	1,910.86	2,149.72	2,627.43	3,105.15	3,582.87	4,299.44	
Draycott in the Clay	1,448.99	1,690.50	1,931.98	2,173.48	2,656.46	3,139.47	3,622.47	4,346.96	
Dunstall	1,416.74	1,652.86	1,888.97	2,125.10	2,597.34	3,069.59	3,541.84	4,250.2	
Ellastone	1,434.09	1,673.11	1,912.11		2,629.15	3,107.19	3,585.22	4,302.2	
Hanbury	1,433.19	1,672.06	1,910.91	2,149.78	2,627.50	3,105.24	3,582.97	4,299.5	
Hoar Cross	1,442.41	1,682.82	1,923.20	2,163.61	2,644.40	3,125.22	3,606.02	4,327.2	
Horninglow and Eton	1,420.74	1,657.53	1,894.31	2,131.10	2,604.67	3,078.26	3,551.84	4,262.2	
Kingstone	1,442.08	1,682.42	1,922.76	2,163.11	2,643.80	3,124.49	3,605.19	4,326.2	
Leigh	1,417.68	1,653.96	1,890.23	2,126.51	2,599.06	3,071.63	3,544.19	4,253.0	
Marchington	1,444.35	1,685.08	1,925.79	2,166.52	2,647.96	3,129.42	3,610.87	4,333.0	
Mayfield	1,434.27	1,673.33	1,912.35	2,151.41	2,629.49	3,107.59	3,585.68	4,302.8	
Newborough	1,451.36	1,693.26	1,935.14	2,177.04	2,660.82	3,144.62	3,628.40	4,354.0	
Okeover	1,402.41	1,636.15	1,869.87	2,103.61	2,571.07	3,038.55	3,506.02	4,207.2	
Outwoods	1,417.44	1,653.69	1,889.91	2,126.16	2,598.63	3,071.12	3,543.60	4,252.3	
Ramshorn	1,402.41	1,636.15	1,869.87	2,103.61	2,571.07	3,038.55	3,506.02	4,207.2	
Rocester	1,433.98	1,672.98	1,911.96	2,150.96	2,628.94	3,106.95	3,584.94	4,301.9	
Rolleston on Dove	1,445.51	1,686.45	1,927.35		2,650.09				
Shobnall	1,417.48	1,653.74	1,889.96		2,598.70	3,071.21		4,252.4	
Stanton	1,411.52	1,646.77	1,882.01		2,587.77	3,058.28	3,528.79	4,234.5	
Stapenhill	1,425.58	1,663.18	1,900.77	2,138.37	2,613.56	3,088.76	3,563.95	4,276.7	
Stretton	1,449.49	1,691.08	1,932.65		2,657.38	3,140.56	3,623.72	4,348.4	
Tatenhill and Rangemore	1,472.70	1,718.15	1,963.59		2,699.93	3,190.84	3,681.74	4,418.0	
Tutbury	1,449.17	1,690.70	1,932.21		2,656.80	3,139.86	3,622.92	4,347.5	
Uttoxeter Rural	1,430.50	1,668.92	1,907.32	2,145.74	2,622.56	3,099.40	3,576.24	4,291.4	
Uttoxeter Town	1,455.06	1,697.57	1,940.07	2,182.58	2,667.59	3,152.62	3,637.64	4,365.1	
Winshill	1,439.22	1,679.09	1,918.94	2,158.82	2,638.55	3,118.30	3,598.04	4,317.6	
Wootton	1,418.11	1,654.47	1,890.80	2,127.16	2,599.85	3,072.57	3,545.27	4,254.3	
Wychnor	1,402.41	1,636.15	1,869.87	2,103.61	2,571.07	3,038.55	3,506.02	4,207.2	
Yoxall	1,425.25	1,662.80	1,900.33		2,612.96	3,088.06	3,563.13	4,275.7	

PARISH PRECEPTS AN	D RATES								
Parish Precepts Tax		Setting 2023/2	4	Tay	Setting 2024/2	5	Rate Inc	rease /	
ransiiriecepts	TAXBASE	PRECEPT	RATE	TAXBASE PRECEPT RATE			(decrease)		
	., ., ., .,	£	£	.,,,,,,,,,,	£	£	£	%	
								,,,	
Abbots Bromley	846.1	30,425.76	35.96	850.3	33,638.00	39.56	3.60	10.0%	
Anglesey	1,632.1	32,000.00	19.61	1,646.2	33,600.00	20.41	0.80	4.1%	
Anslow	361.5	10,840.00	29.99	357.8	11,490.00	32.11	2.12	7.1%	
Barton under Needwood	1,968.2	81,000.00	41.15	1,979.0	81,444.47	41.15	0.00	0.0%	
Blithfield	137.6	4,712.00	34.24	136.8	5,382.00	39.34	5.10	14.9%	
Branston	3,496.2	79,713.36	22.80	3,600.6	115,000.00	31.94	9.14	40.1%	
Brizlincote	1,926.8	16,898.04	8.77	1,924.0	25,000.00	12.99	4.22	48.1%	
Burton	1,247.5	18,000.00	14.43	1,343.9	20,000.00	14.88	0.45	3.1%	
Croxden	120.9	6,400.00	52.94	123.4	8,500.00	68.88	15.94	30.1%	
Denstone	429.8	15,500.00	36.06	433.7	20,000.00	46.11	10.05	27.9%	
Draycott in the Clay	344.4	22,200.00	64.46	351.6	23,800.00	67.69	3.23	5.0%	
Dunstall	87.6	1,810.00	20.66	88.8	1,908.00	21.49	0.83	4.0%	
Ellastone	158.5	7,255.00	45.77	160.3	7,617.00	47.52	1.75	3.8%	
Hanbury	235.2	9,878.00	42.00	234.6	10,471.00	44.63	2.63	6.3%	
Hoar Cross	107.4	6,150.00	57.26	107.5	6,450.00	60.00	2.74	4.8%	
Horninglow & Eton	3,729.1	38,521.60	10.33	3,757.7	41,260.00	10.98	0.65	6.3%	
Kingstone	260.3	14,864.00	57.10	255.7	15,000.00	58.66	1.56	2.7%	
Leigh	438.9	10,125.00	23.07	445.1	10,194.00	22.90	(0.17)	(0.7%)	
Marchington	516.2	29,702.15	57.54	518.7	32,084.00	61.85	4.31	7.5%	
Mayfield	476.8	12,660.00	26.55	474.5	19,797.00	41.72	15.17	57.1%	
Newborough	226.9	16,323.00	71.94	231.2	16,976.00	73.43	1.49	2.1%	
Okeover	35.4	0.00	0.00	35.8	0.00	0.00	0.00	0.0%	
Outwoods	1,282.2	26,426.14	20.61	1,351.7	27,858.53	20.61	0.00	0.0%	
Ramshorn	26.2	0.00	0.00	26.4	0.00	0.00	0.00	0.0%	
Rocester	540.6	24,181.04	44.73	528.4	22,755.00	43.06	(1.67)	(3.7%)	
Rolleston on Dove	1,434.2	90,331.00	62.98	1,472.1	93,041.00	63.20	0.22	0.3%	
Shobnall	1,979.5	37,180.00	18.78	2,100.1	39,445.00	18.78	0.00	0.0%	
Stanton	121.4	1,600.00	13.18	123.0	1,680.00	13.66	0.48	3.6%	
Stapenhill	2,010.8	18,881.41	9.39	2,038.1	30,985.00	15.20	5.81	61.9%	
Stretton	3,267.9	202,119.62	61.85	3,282.2	203,004.00	61.85	0.00	0.0%	
Tatenhill and Rangemore	349.9	30,000.00	85.74	355.7	37,500.00	105.43	19.69	23.0%	
Tutbury	1,381.1	48,624.72	35.21	1,389.8	73,396.53	52.81	17.60	50.0%	
Uttoxeter Rural	728.5	35,000.00	48.04	830.8	35,000.00	42.13	(5.91)	(12.3%)	
Uttoxeter Town	4,645.0	287,804.00	61.96	4,840.8	299,935.00	61.96	0.00	0.0%	
Winshill	2,447.7	64,545.85	26.37	2,464.6	68,278.00	27.70	1.33	5.0%	
Wootton	63.5	1,500.00	23.62	63.7	1,500.00	23.55	(0.07)	(0.3%)	
Wychnor	52.1	0.00	0.00	52.0	0.00	0.00	0.00	0.0%	
Yoxall	946.0	29,851.00	31.55	958.4	31,045.00	32.39	0.84	2.7%	
	40,060.0	1,363,022.69	34.02	40,935.0	1,505,034.53	36.77	2.75	8.08%	